On \oo'oCo 0\0\3{; on or&a\n MmO ALfv\QD [0 O O N WV o m\;zo de B

tMESES G ONG be e de S ‘ZLc,numl chcc,\c.r el e dest

l‘\r\ ooao\rc n\ \'e,vmmo Ae\ o\mzo rnnmr y(‘,nAC) OO\

(“A S‘>\ o\\log\ov\ ﬁemes\'vo\ <4

\Ic"‘?(}\\l ):

T=150,000 (1 .35 qfﬂxm 234. 623 .86

N et @%ex;\g\\b N\g‘(\féuq\.

R/ (0. T~
(x5 8,)
WU

o_‘c.gbxa_?nx_shil_’le_@L ene

OS 5\g Lmno;_dz_\lzag__ﬁﬂo_nc 560\1&‘\0

oOX @ am\\\cn c.\ cm&\o mf\()r\\znén 5/\D T\\ /\'\ﬁ

P9 = e Bkghy - N N E AN

A~ /oo Kn\\ -2 Anoe) / Noming

/ 7. = — —
(\1‘505 “'\O-\g'—

OS2 T 001+ 100=\s75

LAY =) v MO Saey

(R, )




es&;’: (o) C‘_ rogpe
L) QO_zA_Qonm_an_Qov '\ ‘\ L

pus

Apvea i Simde = x Q8> xU = 2,000

ampueata = 0,000 50! L

N0 OO :
Qu.!\\a A\ &' Q\Qh&‘_’?

\e = 10,000 (A *.035)°=11,081.14

o,




